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CHAPTER-2 Things & Connections

Q. 1. Write short notes on the Following:+

(a) STP
(b) Coaxial cable
(c) Twisted-pair wire
Answer:- They are available in different varieties
3cd¥- ¥ RAffieT FeAl 7 3uaey &
(a) Category 3 twisted pairs consist of two insulated wires gently twisted
together. Four such pairs are typically grouped together in. Four such pairs
are typically grouped together in a plastic sheath for protection and to keep

the eight wires together. Effect of noise due to (electromagnetic

Interference (EMI) is comparatively low because of shielding. Being thin in
size the wires are likely to break.

Aoft 373 NS A &) segaes ar @ § N #R-UR wF ¥ A3 F1 IR W
S F WA AR W oF A WEFa fFar aar g1 W IR NI IHAR |
T F fav 3K e ar’t A F Y WA F AT wF confed 7= F F

T FARFA e ST § OR F gHE (FAacAeiitE seId (STHaS)
IRIETT & FROT JoAAF T § FA QT §1 FHEX A g gt F FROT
art & geat & wIHEET gl

(b) Coaxial cable consists of a stiff copper wire as the core surrounded by
insulating material. The signal is transmitted by the inner copper wire and it
is electrically shielded by the outer sleeve. Effect of noise due to
(electromagnetic Interference (EMI) is very low. Can support up to tens of
Mbps at a distance of several thousand feet. Emits very low radiation and
causes less interference with the communication equipment.
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(c) Two insulated copper wires twisted together in a helical shape. The copper
conductors are typically about 1 mm thick. Transmission of electromagnetic
energy along the wires. Least expensive than coaxial cable. Attenuation is
high because of the electromagnetic radiation of energy. Being the oldest

method of data communication, ample trained manpower is available to
maintain the twisted pair cables.

Q IGAT T F AR A TH WY IER HHR A AR G ¥ 9@ &
FFe JHAR T eenrer 1 A AR B &) art F wny fagga gred 9
FT HROT| FARIT Faa A AN A FA § FA AGW FoT F faggd
Trah RO & FROT &fiore 30 §ar &1 3¢ §UR $T Fad WA a0H
g & A1d, A3 AN Faed H FAC @A F AT gAea g SereriFEa
3qereY gl

Q. 2. Why do you connect the wire mesh conductor of a coaxial cable to
the ground?

9o 2. 39 U AT Fad & dR AT FsFed ) JAT & F4T SAzd &2

Answer:- In order to avoid the interference caused by the electromagnetic
noise. The voltage induced by electromagnetic interference (EMI) is sent to
earth by grounding the outer conductor of coaxial cable.

Jocct- fAqgd TFahT AR & FROUT g I Faued { U & Qv

FaFATARE FERiE ($uAsd) ¥ WA deed FFEAT Fed F oaEd
F3FCT H AT FI& Gl W HSAT F1am g
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Q.3. What are the advantages of Optical fiber?

Answer:- The advantages of Optical fiber are:

It can handle much higher bandwidth than copper. Due to the low

attenuation, repeaters are needed only about every 30 km on fiber lines

versus about every 5 km for copper.

HifCeHher BIgaR & BIAS &

I§ aiw A qaar H agd 3fow =Ry Gwna awar 1 w7 afora F FROT,

Bl Sl 9T 9T g¥ 30 fhefl & did & fow oemsrr &)X 5 fFeft ©wW

Rrdflext & sraegswar g §

Fiber is not affected by power surges, electromagnetic interference or
power failures. It is not even affected by corrosive chemicals in the air,
making it ideal for factory environments where electrical interference is
very high.

B TR ol, Foideiiiafesd SIhid T 9aT hedR @ venfad gt g
¥l 77 a1 F WaRwE e @ o wanfaw wEt g &, o 5@ wREe &
aIdraRor & T 3meet qATdT § Sfel fAegd gvaa qgd AN g R

Fiber cable is lighter than copper cable. One thousand twisted pair copper

cables of 1 km long weigh 8000 kg. But fibers have more capacity and weigh
only 100 kg, which greatly reduces the need for expensive mechanical
support systems that must be maintained.

B Fael FW Fad F gedr gt ol 1A Fft vw goR 73 N a@ Hr
$ad FT Tofel 8000 FReENA gar &1 AfFT wEaw & 3R+ a7ar gt & 3k
SHHT o had 100 fFaEMA T § S #gH IifRE FHdaT yonfedl it
HTARIHAT F 9gd A F &d1 § g a=1C @1 1 AR

Fibers do not leak light and are quite difficult to tap. This gives them
excellent security against potential wire-tappers.

W g F1 NEE A w1 § 3R 3 A w3 Fhr T gar 1 g I3
" aRR-3ud & RS v Y&T e FaT ¢
Q.4. Write one advantage and disadvantage of Microwave Transmission.
3
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Answer:- Advantage of Microwave Transmission is:

e Carries 1000’s of voice channels at the same time.
Disadvantage of Microwave Transmission is:

® |tisvery costly.

Q.5. Write one advantage and disadvantage of satellite Microwave

HTAST ABFNRT FT 0F G AR Jwa Af@w
Answer: Advantages of satellite Microwave

A single microwave re3lay station which is visible from any point.
Disadvantage of satellite Microwave.

- THe ABFET {3 T A e o g @ Rwrd &
39T AZHIAT FT THAT|
e Cost of launching satellite is very expensive.
o 3YYE F GAIRT I A AT TG 7EI B
Q.6. Write one application of infrared Waves.
YRS 6. HATFd LAl HT UF qwAnr fAfEw

Answer: - Infrared waves have established standards for using these signals
for communication between devices such as keyboards, mouse, PCs and
printers.

3cd¥:- 3FHRE I A S, A, Y 3t Rer A 3yt & v garR F
fAT 3T TFal HT ITAT S F O 7w THRa Fo §
Q.7. Write advantage of Unshielded Twisted Pair Cable.

Iereles cfaves 9WX Fad & o fafav)

Answer:- Advantages of Unshielded Twisted Pair cable are:

. FeaX- HeTeles CRTE W Faw & PR wrEg ¥

® |[nstallation is easy.

o TUYAT AT §

e Higher grades of UTP are used in LAN technologies like Ethernet.
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e Flexible and Cheap.
Q.8. Write disadvantages of Unshielded Twisted Pair Cable.
Fodles AR W Faa F Jhae fAf@w)
Answer:- Disadvantages of Unshielded Twisted Pair Cable are:
o 3caV- Heides fATs T Fael F JHEH ¢
Bandwidth is low when compared with Coaxial Cable.
AT Faer A gorom A ARy F1 T
Provides less protection from interference.
FEANT ¥ FH FYI&T & FT 8
Q.9. Write advantages and disadvantages of shielded Twisted Pair Cable.
vesT 9. IR cfawes IR Faa F @ 9 gfaar faf@w)
Answer: - Advantages of Shielded twisted Pair Cable are:
Ieat:- Afess TARs T Fad & FIIE 30 TFN §
e Easy toinstall and can be used for analog or Digital transmission.
TR = & 3mae 3R vamarer a1 Bfoed cwufa § Qv swaae fRar
ST " g
Higher capacity than unshielded twisted pair.
i@ 73 P i Jorar A ITT &AHTI
Eliminates crosstalk.
FIAECIH H WA FLal ¢l
Disadvantages of Shielded Twisted Pair Cable are:
ofiess cfares AW Faa & JHaE §:
Difficult to manufacture
faafor & AR
Heavy

Q.10. Write Short note on Application layer of OSI stack.




JAWAHAR COMPUTER EDUCATION
Head Office - A-873/1 Sec-I,Aashiyana,
Near Sai Mandir, Lucknow

! " M4.R5 (IoT)
: Vg5 INTERNET OF THINGS
¥.10. OSI & & 9T T’ W wigred feouoft faf@el

Answer:- The data to be transmitted is obtained from this layer with the
help of various application such as web ,ftp, telnet etc. These application
will have data in different formats such as binary, ASCII, EBCDIC etc.

3cal:- IWRT fFT I« g e F 39 Wa ¥ RAffea ceaFas S as,
THAR, eoae fe Y Ace & wod fFAT T &1 57 vfoades & Sl

TeaHEEITS, SRS anfe 3 _Affe et & 3er g
Q.11. What is the usage of Transport layer?
Answer:- It does flow control, fragmentation, reassembly of the data to be

transmitted or received.

W:-wwmmmmmmgammﬁw,ﬁdﬁ,gm
AT FIaT B

Q.12. Write short note on TCP.
Answer:- TCP is a Connection-oriented transport protocol. TCP provides
end-to-end reliable services. Each TCP connection has only two endpoints is
error-free, not lost, not duplicated, and arrives in order. TCP provides
functions such as timeout and retransmission management, window
management traffic control and congestion control to ensure that TCP
provides reliable services.

3cdl:- TCP U& Connection-3iiRues w et g1 Y @-Q—ﬁg
fareawelia da0 yard FaT ¥l 9AF IAh FAFT F Faw o gHT [y
¥ o qR e A & @ @ o § e adl @ € I o A I
%Imﬁﬂﬁﬁaﬁmﬁ?mﬁ?mﬁ?mmmmﬁ
oo SR F19 vae e ¥

Q.13. What is internet Protocol (IP)?

Answer:- The Internet Protocol (IP) is the method or protocol which data is
sent from one computer to another on the Internet. Each computer has a
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unique identifiable address on the Internet which is used to distinguish

between each other.
Ieal:- T NS (3MEW) a8 adFT a1 NAFdT § FEF @RI §e@e W
TF FYR F g FYR W 3¢ AT ATl g1 e W TAF FoqeX Fl
vs faflse ggaer Ay gar gt ¢ we 3w o @ & €T W wa
& fore fFar Smar &
Q.14.Write Important characteristics for IOT protocols.
Q.14.10T Neiar F AT Ageaqer Fvard [f@w
Answer:-The Important characteristic for IOT Protocols are:
3cal: 10T Werwid & fow Ageaqer feivar ¢
Speed: Amount of data that can be transferred/second.
afa: 3er A AT O FUEaRaAEs R S aFar g
Latency: amount of time a message takes to Power transferred.
facadr: frdy W32 # 9T AW A H 9 Il FA|
Power consumption.

Security
Availability of software stacks.

Q.15.Why MQTT is considered better than HTTP in IOT?

Q.15.10TH MQTTHI HTTP & g FIT AAT AT &7
Answer:- HTTP is the best known protocols that powers the Web (WWW).
However because of the high protocols overhead HTTP s not likely to be a
major IOT protocols MQTT (message Queuing Telemetry Transport) has
emerged as the main IOT messaging protocols because it is lightweight and
easy to use.
3cdT:- HTTP Fad 3reaT ATd Welhid g S a7 (Www) F afFa verT FId1 2
greifd 3o WK & FROT HTTP & GHE (0T WIEKHIA g AT HHGT o781 8
MQTT (s Fgar A giaé) AEd 10T AATT NAYHer F 7 # 39377 §
FhifF I ot T 3T F A R
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Q.16.Write disadvantage of Coaxial Cable .
Q.16. FATENT Fae F JHaT fad|

Answer:-Disadvantage of Coaxial Cable are:

It tends to be more ridged and more difficult to bend around tight corners.
It has a tendency to pick up signals around it unless shielded.

Imperfect shielded can cause a grounded loop.

For the most part 10 base 2 is about as fast as you will ever get on a coaxial
cable without special circumstances.

It is ancient and being phased out phased out except for special use by
cable companies and some telecoms.

7% 0% a1 8 Irar § AR 9 Fl F WA FFAT HAF Ffoer gar ¢
9 d& 3@ gRIf@T A R Sar §, 99 9% s8% ORY 3R {edaed A iy

ygfed &t &1
3qet aRRf&T U AMIST 9 FT FROT & FHAT
ftwier sor F QT 10 99 2 3o & o § Taar & v R [ew
uRiPufa & o= w3 oft womedr Faar 9T yroT F A
Ig wrEe § 3R Faa Fufaat 3R Fo QEIRT q@ErT Ay s #@ sga
WU ald § AT A1 ST @ R

Q.17. Write advantage of Coaxial cable.

Answer:-Advantages of Coaxial Cables are:

It can be used for both analog and digital transmission.

It offers higher bandwidth as compared to twisted pair cable and can span
longer distances.

Because of better shielding n coaxial cable, loss of signal or attenuation is
less.

Better shielding also offers good noise immunity.

It is relatively inexpensive as compared to optical fibers.

It has lower error rates as compared to twisted pair.
8
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It is not as easy to tap as twisted pair because copper wire is contained in

plastic jacket.
FHHT 3TN vATerer 3R Bfoesd g =t & v fFar s awar §1
I A3 NI Faa A Joon A o7 337 ygw Far ¢ AR o g aw S
T gl
dga¥ IRIETr n FATRTT Faar F FROT, Reaer A gifa ar afiorer w7 gar 2
dgax aRweTor 8t oot AR I waw FaT
ug HifCehal BIga $T Toiell A IASTHA FET B
cfawes ST Y gorem F sud qfE T FA g B
HS Y A dE T FAT AT AW A¢ § FAF CATiReH SAhe # a H1
ar g gl

Q.18. Explain types of control loops.
Answer:- Types of control loops are :
There are two man types of control loops: Open loops, which operate with
human input, and closed loops, which are full autonomous. Some loops can
be switched between closed and open modes. When open, a switchable
loop is manually controlled and when closed it is fully automated. Open-
loop and closed-loop control
& TR F FEA0 97 §: A q9, N AW $AYC F WY FA W §, 7 97
U, S Of Fed §1 5 99 99 iR g A F i o e o awd §
9 GelT gl ¥, TF Faw w1 AT oy Ay w9 A AT @ar € s 9
g W I¢ T e & Faariad g g1 A9a-aq9 AR Felro-oqg =
In an open-loop control system, the control action from the controller is
independent
of the process variable. An example of this is a central heating boiler
controlled only b a timer. The control action is the switching on or off of the
boiler. This process variable is the building temperature. This controller
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operates the heating system for a constant time regardless of the

temperature of the building.
3Nuet-ag fAzor gomrelt #, s @ fAaEor B waaT g @

UfhaT X | TUPT UH 3ETEI0T Uh Hglg e daigex § O Faa &t e
frafia frar Srar @1 frsor fhar afaer @t are a1 98 w1 Ig whear
T HIT FT dUA §| Ig AITF Haad & auAe f wWag Fe e HRa
AT ¥ v Hfér Rven swfad Far 2

In a closed-loop control system, the control action from the controller is
dependent on the desired and actual proves variable. In the case of the

boiler analogy, this would utilize a thermostat to monitor the building
temperature, and feed back a signal to ensure the controller output

& Feles-aqd RATa0r yurel #, e & fAgEor B aifda sk awafew
g W W AR @ &1 SgoR AT F AW A, Ig HaT & YA A
framret & faw gefede #1 39ahr w9, 3R s srseqe gialRaa &@ &
foT v Reaa & aaw Bz F9

Q.19. What is LoRaWAN?
Answer:- LoORaWAN (Long Range Wide area Network), a protocol for wide
area networks, it’s designed to support huge networks, such as smart cities,
with millions of low-power devices.

3cd¥:- ARG (Ale9T I a158 TRAT siead), 9188 TRAT Acas & fav s
eI, 30 a@l FA-AFT T 3UFON & T TAE [{A S Qe Aecad
FT GAAT F F AT BT Far = g

Q.20. What is the purpose of NFC?
Answer:- NFC, short for Near field Communication, is a short range wireless

RFID technology that makes use of interacting electromagnetic radio fields
instead of the typical direct radio transmissions used by technologies such
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as Bluetooth. NFC is a short-range, low-power wireless way to transfer

small amounts of data between devices.

3ca: - TATHH, AR fies FRgfases & fav wférea, ve a1 gt :
TRRAH ARUGIHTES! dFelld o Y solgd otll adelidl garT 39T f&e am=
arel Afdrse yogar IBA YAROr & g9 sedfFEa saweHTAfes A fies
&1 IYIART FICAT §1 TATHHAT IR & ST A AR & 3T TAEART A
¥ fT vF a1 gft, w7 afFa arem arAw aliw B

Q.21. Write pros and cons of NFC.
Answer:- Pros of NFC are:

(a) Offers a low-speed connection with extremely simple setup.
(b) NFC has a short range and supports encryption.

Cons of NFC are:

(a) Short range might not6 be feasible in many situations.

(b) NFC is an expensive technology.

(T) 3cqd O QEHT & T FH aAfq Il FoAFerT YSHT FT 2l
(@) TaTwHt F e SE @ AT § 3R ofercas w1 gHST Far B
TAUHHr & fuer §:
(@) oe I #$ ufaat & o A & aar 21
(1) TaTTwdl TE AT dHeS gl
Q.22. Differentiate between MQTT and DDS Protocols.
Answer:-MQTT is optimized for centralized data collection and analysis
connecting sensors and mobile devices to applications running in a data
center. All communication routes through this centralized broker.
DDS is optimized for distributed processing directly connecting sensors,
devices and applications to each other without any dependence on

centralized IT infrastructure.
DDS is decentralized.
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Q.23. Explain smart parking, IOT application.
Answer:- In smart parking, it is possible to easily locater parking spots
nearby. Parking lots have sensors’ which let a server know about their

usage. Once a driver queries the server with his/her GPS location, he/she is
guided to the nearest parking lot with free slots.

3cd¥:- TATE UIfher A 3MH-UTH & Ifher TAAT ST AR F IdT T9I=T FHT

¥l I T # dWX A € S U WA HY IA% ITANT F IR F qqd &
TF IR I9 FE RN H9 Afiew Fue §F @0 TR § (Bao Fr §
3¢ AFT Fele & Ty Fwean Nk wua F A FERE R smar
Q.24. Discuss in detail smart City application of IOT.
weeT 24. FENA F TARE A Ipoalr & IR 7 RArar & ==t ;)

Answer:-Smart city is the city with thousands of sensors for smart traffic,

smart water management applications and smart parking system etc. smart
transportation is implemented using a network of sensors, centralized
analysis, and smart traffic lights. The reason why it is so popular is that is
that it tries to remove the discomfort and solutions offered in the smart city
area solve various city-related problems comprising of traffic, reduce air
and noise pollution and help make cities safer.

3eat:-FAE R ThrE v, TAre arex Aderie witade sk A oifdar
fovew afe & T goRt duT arer aew 31 4w, FlFa Feawor sk e
e g F Acad FT ITANT FF A IRTg 9] Far ST g1 FES
g SIS IAT @A HT FROT Ig ¢ & Ig T R a7 # 9o Ay 5 arehr
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Q.25. Explain with the examples how IOT conserves energy and saves money?
.25. 3807 Afed FHASTST & Fq 107 FAT T GI&TT FaT § 3K o7 i q=9a
HIAT &7
Answer:- (a) IOT-based real-time monitoring systems brings optimum use
of energy and saves money. For example, thermostats enable people to
remotely monitor and control the temperature of their heating and cooling
systems. The advantage of using a smart thermostat, is that we can
override the scheduled programming to raise and lower the temperature
remotely.
(b) Similar to thermostats, smart water heaters enable us to raise and lower
the water temperature in our tank from anywhere we have an internet

connection. For \example, suppose we take a shower every night at 9:00
p.m. We can program our hot water heater to start heating the tank at 8:00
p.m. So that by the time we need it, the water is nice and hot. The rest of

the day, the hot water heater is turned off.

(c) Sensors integrate with the lighting system in order to turn lights on or
off depending on the presence of people in the room. A smart lighting
system will notify us via text messaging if a light was left on. The energy
savings of a smart lighting system can be very significant.

(d) A smart grid basically promises to extract information on the behaviors
of consumers and electricity suppliers in an automated fashion in order to
improve the efficiency, economics, and reliability of electricity distribution.

3cdl:- (T) IENA-3maRaT dae-esd ATl R¥ed FAT FT gsedq 39T
w1 § A T Tumar {1 3Eevr & v, yefedew ant @ g e sk
Ffoer Reed & amAe A g7 ¥ e ik @ 7@ 7§ ware qama &)
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IR w7 A & AT FURT DR i dawEs FT e g

() yAfedew & GAE, TAE aleX X & 3usl & & Ul & a9Ae &
Fal @ oft ggnt 3 FH T F warH Tod § @ ¥ AR 9N ST
FAFAA ¢ 3GTEI0T F AT, AT NAT & g7 & T 9:00 T FT A
&H YT gic aley €eX A T 8:00 o & A 7H A & AT Naw W
Thd g1 afF ST aF g I g, et o1 AR T g Sw| AW R, aed
gl FT1 geX 9§ @ gl

(@) FAY F Al A 3ARATT F IR | W =1 1 € F F AT dW
YHT STGEYT & WY THIFd 81d ol TF TAE aAsfear e gt eave
HAfSir & aAreaw @ gRT Fom IR S yFwer 913 G>wr 4w an ww A

YTl SHAEYT HY Fol T qgA Heca ol &1 Fhell ¢

() v A s Ha w9 F Rsrelr fRavor Air garan, srdemeT 3R feaweaar
# gur & foav Fafea $eer F susieanit sk Reeh smfdwaiat &
AR T AHR fASTelst FT amar Far gl

Q.26. What is an IOT ecosystem?
Answer:-IOT ecosystem is like a community that consists of data and

monetary flows that helps in connecting enterprise and vendors together.
This new chain of development is the best way to connect companies will
be offering the I0OT ecosystem similar to risk management and cyber
security. The IOT ecosystem includes all those technologies that enable
consumers, businesses, and governments to connect, control and derive
value from their connected objects in diverse environments, including
manufacturing, agriculture, transportation, smart cities, construction, oil,
and gas.

Seat-3TEAHE RN @7 vF FHEE A @F § Swd o a3k AR
yarg g1 § S 3eFH 3R Rkant # vE @iy NsA F #Aeg wa & R

T g 7S AW YA yaueT 3 AFE FI&T F AW 10T qRFFAfaHr o
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TR @ i & Wt iRl anfere § S susEant, sraet sk
TR F fafastor, FiY, oRage, T ae ), fawon, e 3k dw afta R
ardraRelt # 3o o3 g8 aeqIt ¥ Shew, ARG w1 AR qew god F& A
"aH ST
Q.27. Write short note on cloud computing.
Yo 27. F135 FeYfeer W wigied feoyoht faf@wl

Answer:-Cloud computing is an infrastructure of shared resources (such as
servers, network, and software applications and services) that allow users
to scale up their data management and processing abilities while keeping
the costs low. A cloud vendor invests in and maintains the cloud
infrastructure; a user pays for only the resources and applications he
wishes to use.

3cd: FA3S FTYFEA WIHT FAUAT (S FI, Acas 3 AFedA vioeaerT
3R Fa1a) 1 v IAIEY ST § S STARTRATA F AT FH @S g
I9er 3T YaUe AR THEHOT AT FY qgI Y AT AT §1 U FAES

fashdr Fa13s sowreFaR A Ay wyar § 3R 3w TEREE w491 §; vF
39ANTRAT Fae 39 FAHA! AR vAET F AT sEraer Fwar ¢ e @
3YANT HIAT TET §1

Q.28. What is Big data?

Answer:-Big data is a term popularly used to describe large data sets that
cannot be handled efficiently by traditional data management systems. In
addition to the large volume, the concept of big data also refers to the
variety of data sets i.e., structured and unstructured as well as the velocity
or the rate at which the data are incoming.

FcdT:-faer 327 T NFNT Aec § THHRT 39AT 92 37 Wl FT quiT FA &
T fram Srar & e aRaRe Ser yauer gonfeat qarr Fwear @ Fafa
TET fFaT ST Fhar &1 99 AT & 37TEr, 99 32T Y JTUROM 3T el Y
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Q.29. What is internet protocol (IP)?

Answer:- Internet Protocol (IP) is an open network protocol that provides
unique addresses to various devices connected to the internet. There are
two versions of : IP version 4 (IPv4) and lpv6.

IP version 4 (IPv4) is an older version of the Internet Protocol (IP) whereas
IPv6 is @ most recent version.

3eeT:- $TT MeNFr (3Ed) TF FoT AeaF Newe § A Feee & I3
faffear su=ton # gy ud yae Far §1 38F & @ERor §: 3mEd
HERIOT 4 (TERET 4) 3R 3mEE 61

IP HEFIOT 4 (IPv4) SEIAT WIRNHI (IP) FT T AT HEFIOT § T fH IPV6
AdTTH TEHIOT F

Q.30. What is the Internet of Everything? What are its elements?

W 30.3eTAC TF TIAT FAT 82 50F ded 4T &2

Answer:-The Internet of Everything is the intelligent connection of people,

process, data, and things. The elements of the Internet of Everything are
Human beings, Procedure, Things and Information.

3ea:- $eteie 3w vadifder o, uftka, ser sk et @1 giee Fewere B
Feteie 3% wadifder & aca Ay, ufea, e 3k g #

Q.31. Name a few IOT protocols.

Answer:-A few |OT protocols are:

XMPP: Advanced message and Presence Protocol.

AMQP: Advanced Message Queuing protocols.

CoAP: Constrained Application Protocol.

MQTT: Message Queue Telemetry Transport.

DDS: Data Distribution Service.

3cdl-FS |OT WEYhIer &
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Q.32. Explain service models of cloud computing.
Answer:-Service models of cloud computing are:

(a) Infrastructure-as-a-Service (laaS): It is supply an on-deman

(b) environment for developing, testing, delivering and managing software
applications.

(c) Platform-as-a-service (Paa$S): This type of solution allows you to rent
cloud infrastructure and an 10T platform all from a single technology
provider. Also there might be ready-to-use 10T solutions (IOT cloud

services) offered by the provider, built and hosted on its infrastructure.
(d) Software-as-a-Service (SaaS): This method is used for delivering
software application over the internet on demand and typically on a

subscription basis.IOT application are pre-built software-a-service
(SaaS) application that can analyze and present captured IOT sensor
data to business users via dashboards.

3ca\: FA38 Hogfea & idw Al &

(V) SPREEFR-U-T-AGH (MgUeTH): IF 3iiar-FArs smyfet @

(af) WiFeaR srquArt & s, daror, fFaer sk yaua & faw arevon
(@) ceHH-T-T-gfdT (NveeH): 57 YHR FT FAT 9P FA135
gwReFaT 3R IMEHE Hewid F vF & A vgar & e w
o @Y egAfY AT ¥ FWE IATAT YeTAT EFRT Yar fRu s a e E-g-
IS 10T GATHTA (10T FA135 |ATC) g FHhat g, S WS AAET e W
faffia sk e o aw &)
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Q.33. What is fog computing? Who has coined it?
Answer:- Fog computing is a type of network architecture (i.e., how the
systems are connected within a network and to the Internet) that links
cloud computing (storage of data and programs over the internet ) to the
Internet of Things (IOT). The term fog computing (or fogging) was coined by
Cisco in 2014.

3ca: - BT IR TF YHR F Acd® ke ¢ (3rdfa, Rven =

Aead AR FeTee ¥ FA 3 §) I FAB33 FHR (Sexae W 3T AR W
FT HSROT) F FeAT 36 @ (10T) F e &1 Bir FofET (AT BifAT)
ereg FAFHT GaRT 2014 F AGT AT ATI

Q.34. What is fog node?
Answer:- The device with network connection storage and computing

feature is known as fog node Examples include switches, controllers,
routers, servers, cameras and so on.

3caV:- AcqH FAFAA TR 3R FYRT AR ek Basw F 6 a5 F
W H AT AT § 360N A g, FEIar, W3, WA, FAWw e enfAer §

Q.35. How fog computing decreases the band width used?

Answer:- The fog node is located in a smart router or gateway device,
allows fog data to be processed on this smart device, so that only the
necessary data gets further transmitted to the cloud, and decrease3s the
bandwidth used.

Q.36. Write Pros of Fog computing.
Answer:- The pros of Fog computing are:
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(a) Fog is geographically closer to users and is able to provide instant

responses.

(b) Loss of connection is impossible due to multiple interconnected
channels.
Jeal:- BT FYRN F TIE §H TN 8-
(@) Fgw stafas & ¥ TRt & F0 § AR qa vfafear & &
&I B
(@) FF SFAIS ATl F FROT FAalel F JHA FEHT ¢

Q.37. Write the key differences between Fog Computing and Cloud Computing.
YRS 37. Wler Fegfeer AR FAEs Fogfew F i yow A @
Answer:- Key difference between cloud and fog computing are:

(a) Cloud architecture is centralized and consists of large data centers that can
be located around the globe, a thousand miles away from client devices.
Fog architecture is distributed and consists of millions of small nodes
located as close to client devices as possible.

(b) In cloud computing, data processing takes place in remote data centers.
Fog processing and storage are done on the edge of the network close to
the source of information.

(c) The cloud consists of a few large server nodes. Fog includes millions of
small nodes.

(d) Fog performs short-term edge analysis due to instant responsiveness, while
the cloud aims for long-term deep analysis due to slower responsiveness.

(e) Fog provides low latency, where as cloud provide high latency.

(f) Fogis a more secure system than the cloud due to its distributed
architecture.

(g) Fog is the layer between the cloud and the devices like computer, laptop,
mobile etc. As Fog acts as a mediator, it is less time consuming to transfer
the data. When there is no layer then cloud needs to communicate directly
to the end devices which take more time than using Fog computing.
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